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(M%HESHB B)uarBEAS CEMEAN OFHERM (ks
i Rk
5. Z{kifik &% 14400 bps M8t LB TH > — R4 BT RALRMER
XFA? '
(A)144 (B)1440 (C)14400 (D)144000 (E) 9660 )
6. TFTHTH B+ omBF - 11 2 2 8938 #(2’s complement) & F 57 H A? B
(A) 11110101 (B) 11110100 (C) 00001011 (D) 10001011 (E) 00000011
7. 16 safu$F 10AB A &7 o + A B F AAT?
(A)4267 (B)256176 (C)1096 (D)2576 (E)sA L% 3k
8. FTHMALRRNSMAGTEMPIFRMEABY
(A)Analysis (B)Design (C)Implementation (D)Optimization (E)MX L%
&
9. F 57— R A KM A S PATHE 4 Machine cycle) i & &6 5 %7
(A)Analysis (B)Fetch (C)Decode (D)Execution (E)sA E'&5%
10 £ 504 10 @A > —BRESHFRIK?
(A) 2
(B) 10
(C) 100
(D) 1024
| (AR @R
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EMABIESL A
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Control Language (D)Data Security Language (E)xt L% &
13. FTHMTH BEA BB B FHEETHR?
(A)5/16 (B)8/5 (C)5/20 (D)3/4 (E)mA L% 3k
14, £ Esxie e (Virtual Memory) &9kt & » FHH— AR A4 & 5 B (Page)
KheyE£?
(A)Size of the page table (B)Internal fragmentation (C)CPU speed
(D) Input/Output Time
15. 8 T A A EH X AC+ AB + BC + AB 4!:&%4&.74%91
(A)A+B (BYA+B (C)A+B (D)A+B (E) 0
16. F 717 — 18 3@ % 2 T ARG T F 242
(ADSNMP (B)SMTP (COHTTP (D)ICMP (E)st k% &
17. F ol $difr 5 B B2
(A) 157] (Queue) XA it ey & 7] -
(B) st & (Stack) AMLEMT - A B BB T REGREG— i
N ﬂhﬁﬁ#?é%ﬁtikééﬁlﬂié@??*#ﬁﬂﬁéé%-jm%ﬂwﬁk°
(C) PushO)#v Pop() 45 7| &y E K -
(D) 477153 A 4P T 2L & 7 B 6k 4 % 5 (Linked lists)ey R & -
(E) A E%3E -
18. TF 54T & R WA socket #4784 - Server 3pa) EFERE X 57
(A) Socket—bind—I1isten—accept—read/write—elose.
(B) Socket—Ilisten—accept—bind—read/write—close.
(C) Socket—listen—bind—accept—read/write—close.
(D) Socket—1listen—accept—read/write—bind—close.
(E) s L%k
19. ERAR B @@ (ISO)A ST BAR A i & (0SS A B X+ » RBEH
EH =R A7
(A)Physical Layer (B)Network Layer (C)Presentation Layer
(D)Transport Layer (E)Session layer
20. £ E-F1545 john@nail. mcu. edu. tw ¥ + % domain name %
(A)john (B) meu. edu. tw (Cmail. mcu. edu. tw (d) john@mail. mcu. edu. tw
(E)eA L% 3k
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21, F 79 sb kAR Mok & B 748 5E (stable) HEA KT
(A)Bubble sort (B)Heap sort (C)Quick sort (D)Radix sort
22. fﬁﬂﬂ‘%#ﬁﬁ-iﬁﬁ-i&'ﬂ'ﬁ&ﬂ*ﬂ.éﬁﬂk%T » L O(nlogn) & 5 R AL 2 K 4% n 18
TR A 472 )
(ADMerge sort (B)Heap sort (C)Quick sort (D)Radix sort
23. F 7]k & HTUL 857k & i & 4 694% 8 (tag)?
(A) <HI> (B) <P> (C) <HEAD> (P) <BEGIN> (E) <IF>
24. F @ bR 8 A RSBt Bk —7
(A) Mutual exclusmn (B) Hold and wait (C)No prlorlty (D)ercular

26. ’Fitjﬂﬁﬂuﬁ B ;E& %fﬂ-tuﬁ(encryptmn)#iﬁ’
(ADDES (B)JPEG (C)RSA (D)JAVA

27 6 —BE & X o AlF PR ATH EHE?
int F(int x)
{

if(x<0) return 1;

else return( F(x—l)+F(x—2) )H

}
(A FO)=#AE 1 (B) F(O)#=¢ F()&iﬁ;l x (O F)amas 8 D)
F(#+ FORE 8 X
28. 86— CRXA BT HRESITEZEXA KL THKETEHRE?
int i, sum=0;
for(i=0; i<10; ++i)
{
sum = sum + i;
}
(A)i=9 @B)i=10 (C)sum=45 (D) sum=55
20, A — AR P Ali=1,2, M, j=1,2, - N], BFIBEAE 5 X A #%
R 7] %8k 4 (row major order), 8A[Q, jIRA% i ##E j A% AlL jleosx
o BEEMEEANS 2maim, QA[2,3])=1204 BEA[4,2]=1394. F7F|
o4 H EE? ’
(A) &A[1,1]=1008 (B) &A[1,1]= 1012 (C) N=100 (D) N=94
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